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module TOP (reset, clk):;
*include "parameters.v"

input reset, clk;
wire [state_size-1:0] bl, b2 1, b2 2, b3, b4, b5, b6, b7 _1, b7 2, b8 1, b8 2, joined b2, joined b5, joined b7;

wire [state_size-1:0] bot_state;
wire [value size-1:0] bot_ value;

wire zero;
wire widen;

assign zero=0;
assign widen=1;

assign bot_value={3'bl00, 32'd0, 32'd0};

assign bot_state={bot_value[value_size-1:0], bot_value[value_size-1:0], bot_value[value_size-1:0], bot_value[value_size-1:0],

b))
'

BLOCK1l blockl(.state_in(bot_state), .state_out(bl), .widen(zero), .reset(reset), .clk(clk)):
IN STATE join2(.state_a(bs5), .state b(bl), .state_out(joined b2), .widen(zero)):;
OC¥2 block2(.state_in(joined b2), .state_true(b2_1), .state_false(b2_2), .widen(widen), .reset(reset), .clk(clk)):
BLOCK3 block3(.state_in(b2_ 1), .state out(b3), .widen(zero), .reset(reset), .clk(clk)):
OC¥4 block4(.state_in(b7_1), .state_out(b4), .widen(zero), .reset(reset), .clk(clk)):
JOIN STATE join5S(.state_a(bé), .state b(b8 2), .state_out(joined b5), .widen(zero)):
BLOCKS block5(.state_in(joined b5), .state_out(b5), .widen(widen), .reset(reset), .clk(clk)):
BLOCK6é blocké(.state_in(b8_1), .state_out(bé), .widen(zero), .reset(reset), .clk(clk)):
JOIN STATE join7(.state_a(b3), .state_b(b4), .state_out(joined b7), .widen(zero)):
OC¥_BRRNCH block7(.state_in(joined b7), .state_true(b7_1), .state_false(b7_2), .widen(widen), .reset(reset), .clk(clk)):
OCK_BRARNCH blockg8(.state_in(b7_2), .state_true(b8_ 1), .state_false(b8_2), .widen(zero), .reset(reset), .clk(clk)):

R

endmodule
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#
0 15] block 3 temp : [ 0, +inf] -> [-inf, +inf]
& /TB_TOP/top/block3/state_to_var/r 3000000000000... |EhLLLLRERRGGGRGGN] 00000000000000009 300 # [ 15] block 3 r: [ a, 9] -> [-inf, +inf]
» TOP/top/block3/state_to_varresult | 1000000000000... |EREEEEEEEEEL s R (oo TeTaTaTaTaTaTaTaTaa s aJalal 0000000( #
1: /TB_TOP /top/block3/state_to_var /i 0000000000000000 00000000000000000 J10000000 %1 251 block 7 result t | o 8 = | .
&) /TB_TOP/top/block4/state_to_var/max |0000000140000... |EEMEMEMEMELELGELGN 00000001400000014 3
1b JTB_TOP/top/block4/state_to_var/sum | 3000000000000... |ZTlaealelelelslssals s]s]a]s] (00000000000000000 30000000000000000 # [ 16] block 4 result : [ 0, 0] -> [ 0, +inf]
&) /TB_TOP ftop/block4/state_to_var/c 1000000000000... |Ehallalllll]slsla]s] (00000000000000000 10000000000000000 #
& /TB_TOP/top/block4/state_to_var/temp |3000000000000... |E e usssisssn D0D0000O000000000 1000000... }30000000000000000 : [ 16] block 8 result : [ 0 a1 > 1 0, +inf]
15 JTB_TOPtop/block4/state_to_var/r 3000000000000... |EhLLLLLELLRERGLRGN] 00000000000000009 30000000000000000 $ [ 17] block 6 result : | 0, 0] -> [ 0, +inf]
‘b /TB_TOPtop/block4/state_to_var/result | 1000000000000... |EhseEEEaEEEREH0] 000000000000000D0 2
1§ /TB_TOP/top/block5/state_to_var/max | 0000000140000... |EREELLLLREEEEEEL 00000001400000014 #
& [TB_TOP/top/blockS/state_to_var/sum | 3000000000000... |EEuEusEuss D0000000000000000 __)30000000000000000 I T end of ltefazlzn' counter= 18 —=mmm-
& /TB_TOP ftop block5/state_to_var/c 1000000000000... |EREEEEEEEEGEGRGN 00D000000000000D0 10000000000000000 3 blgzk 1 ::; bgt
15 JTB_TOP ftop/block5/state_to_var/temp | 3000000000000... |Ehkpasseaaeasasn0] 000000000000000D0 1000000... J:3000000000000 2 block 1 c : bot
& /TB_TOP/top/blockS/state_to_var/r 3000000000000... |ERNEEEEEEEEEGGGGE] 00000000000000003 3000000000000( # block 1 temp : bot
& /TB_TOP//top/block5/state_to_var/result | 1000000000000... |EIEELVIEEOIEH] 0000000000D000000 10000000000000000 : ‘;iccf 1 1r : th
< t : bot
¢ /TB_TOP/top/block6/state_to_var/max | 0000000140000... |Eaeaeelala]iJel] 0D0000001400000014 3 ee resu °
&) /TB_TOP//top/blocké/state_to_var/sum | 3000000000000... |EZSEEeuuseuaL] 000000000000000D0 30000000000000000 # block 2 max : [ 20, 20]
& /TB_TOP ftop/blocké/state_to_var/c 1000000000000, .. | 000000000000000D0 10000000000000000 # block 2 sum : [ 0 0]
ITR_TOP/tnnhlnckAlstate tn varftemn | 2000NOONNNNNN | PETaYaTaTaTaTaTaTaTaTATATa TaTATATA) (AYRTATATATATATATATATATATATATAIATA) 1nHnNNNN LETaTaTaYa TaaTaYaTaTaTaTal # block 2 c: [ 0, +inf]
Now 40000 ps # block 2 temp : [-inf, +inf]
# block 2 r : [-inf, +inf]
# block 2 result : [ 0, +inf]
L eeee— T— #
' # block 3 max : [ 20, 20]
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